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? B |44|tE # K K@ 2 FH FHiE AL 1532187390 13
H 134l O E X 2 ZH 2 1431850730 15
. B |I53|XK & & T 1 ' | FILE 153155590 7
Hleée2lg # & A| 2 FH FHiE AL 153158000 5
* B |56l ZF 1 X 2 &% WAL 15371650470 8
H|28|= BE [ 4 2 BH | BIRKEE 15317§020 9
» B |58 |E # T iE 1 BH | FIIX 153157360 6
Hle3|Xx N @& x| 2 FRAE FRRE AL 153130450 4
“ B | 65 %k B ozl 1 B B K 153110280 2
H 174 (& H B OoHE 2 all R 1531170040 1
# B | 73 |EF oW 2 '8H | FIIX 1531170460 3
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8H9H Starting List

Zkm IP =I5 ZER MAWHEKS
# | No | ID E F A B& R4 2km 1P g 452
1|77\ B8 # ® =8 53 35310%0850 3
112|790 B =2 % B4l £H 343055260 2
3 |8l%F B2 KR E BH| & K 24¥57#5760 1
500m TT
No |hm|D| B F & RE | 2HA 500m 1T [
Hlst|&E B F = A Q[ :: 4450260 3
! B
H |76 [k & # = E50 B R 4270950 2
’ B |80 Jil E S E | FERSE 42%0230 1




